CORRECTION INTERRO DE C DE DECEMBRE 2003
1) voir correction

2) Tri 

#define N 10
Void Tri_Selection (int t[])

{

int i, j , max  , tmp;
for (i=0; i<N; i++)
{

max = i;

for (j=0; j<N; j++)

if (t[max] < t[j]



max = j;

if (i != max)


 {


tmp = t[i];



t[i] = t[max];



t[max] = temp;

 }

}





}
3) Répertoire téléphonique 


#define MAX 500
a) typedef struct
{


char nom[20];


int poste;

} personne;

typedef struct
{


int nb;


personne tab[MAX];

}repertoire;

b) void Ajout (repertoire *r)
{


if (r->nbr <MAX)



{




cout << “Entrer le nom : “;




cin >> r->tab[r->nbr].nom;




cout << « Entrer le poste : « ;




cin >> r-tab[r->nbr].poste ;




r->nbr++ ;


else



cout << « Répertoire saturé !!! » << endl ;

}
c) void AfficherTout (repertoire r)

{


int cpt ;


for (cpt = 0 ; cpt < r.nbr ; nbr++)



cout << r.tab[cpt].nom << “ “ << r.tab[cpt].poste << endl ;

}

d) void EditerElement(repertoire r , char *nom)

{
int i ;

for(i=0 ; i < r.nbr ; i++)

{


if (strcmp(nom,r.tab[i].nom) ==0)


cout << r.tab[i].nom << “:” << r.tab[i].poste << endl;

}

e) void Suppression (repertoire *r, char *nom, int poste)
{

int i = 0 ;

while (i < r->nbr && (strcmp(nom,r->tab[i].nom) != 0 || r->tab[i].poste != poste))


i++;

if (i < r->nbr)

{


for (j = i ; j<r->nbr -1; j++)



r->tab[j] = r->tab[j+1];



r->nbr--;

}

else

cout << « Personne inexistante » << endl;

}

